## AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable box)

## ☐ FEDERAL CANDIDATE

## **☑ STATE/LOCAL CANDIDATE**

To Avail Themselves Of The Lowest Unit Charge During A Political Window, Federal Candidates Must Sign The Certification On Page 3

Station and	l Location:			Date:	3/13/2020
KKJG-FM	2325 Skyway Di	rive, Ste J, Santa M	aria, CA 93455	1	
3620 Sa	cramento T	DV. #204 3	San luis C	msto CA	9341
	n The Battin Gro				
being/on bel	nalf of:	an Cunningham			,
a legally qua	lified candidate	of theR	epublican 		
political part	y for the office	of: State A	ssembly - District 35		***************************************
in the	eneral				
election to be	e held on:	November 3, 2020			
do hereby re	quest station ti	ime as follows	<b>5:</b>		
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
		sel a	ttacke	d	
Attach propo	sed schedule v	with charges (	if available):		

I represent that the payment for the above described broadcast time has been furnished by:
Jordan Cunningham For Assembly 2020 - FPPC# 1415312
and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.
The name of the treasurer of the candidate's authorized committee is:  Jen Eve Slater
This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.
To Be Signed By Candidate or Authorized Committee
그는 사람들은 사람들이 가는 회에 가장 하는 사람들이 되었다. 그는 사람들이 되었다면 하는 사람들이 되었다. 그는 사람들이 되었다면 하는 것이 없는 사람들이 없는 것이다.

O Order
San Luis Obispo, CA
: KKJG-FM
Rep: Emily Reiswig
(805) 922-1041
EReiswig @americangeneralmedia.com
ign Remarks:

Jordan Cunningham for Assembly 2020
Campaign: Jordan Cunningham for Assembly 2020 - Radio
Jordan Cunningham for Assembly 2020 - Radio - SLO
Flight Dates: 09/05/2020 to 11/03/2020
Contract No: 15620195016-130431
Rev. No: 0

ipols: }HPs:	SaSu	SaSu	SaSu	Z	MTWRF	Z	MTWRF	MT	MTWRF	Days	G
Dept and Son	0600A-1000A	1000A-0300P	0600A-1000A	0300P-0700P	0300P-0700P	1000A-0300P	1000A-0300P	0600A-1000A	0600A-1000A	Times	
A B	WE/60	WE/60	WE/60	PM/60 -	PM/60	MD/60	MD/60	AM/60	AM/60	DP/LEN	
**	KJUG 98.1 FM	KJUG 98.1 FM	KJUG 98.1 FM	KJUG 98.1 FM	KJUG 98.1 FM	Call					
	Country	Country	Country	Country	Country	Country	Country	Country	Country	Program Title	
	10.00 540.00	15.00 810.00	15.00 810.00	26.00 78.00	26.00 3120.00	26.00 78.00	26.00 3120.00	26.00 156.00	26.00 3120.00	Rate/Total	
j	12.50	18.75	18.75	21.67	21.67	20.00	20.00	26.00	26.00	CPP	
	0.80	0.80	0.80	1.20	1.20	1.30	1.30	1.00	1.00	P 35+	delphiretern control of the control
18 14.4	တ	თ	တ	0	0	0	0	0	0	Sep 05	
63 66.9	တ	თ	თ	0	15	0	ជ	0	15	Sep 07	
63 66.9	თ	ი	6	0	15	0	15	0	15	Sep 14	
63.9	თ	o	თ	0	<del>1</del> 5	0	ភ	0	15	Sep 21	The state of the s
63 66.9	თ	6	Ø	0	5	0,	5	0	15	Sep 28	
63 66.9	თ	o	თ	0	15	0	15	0	15	Oct 05	The second second second second
63 66.9	თ	6	თ	0	5	0	5	0	5	0ct 12	The second second
63 66.9	თ	6	თ	0	<b>5</b>	0	15	0	15	0ct 19	
63 66.9	თ	თ	თ	0	15	0	15	0	15	Oct 26	THE RESERVE AND THE PERSON OF
12 13.5	0	0	0	ယ	0	ω	0	O)	0	Nov 02	on the form of the control of the co
5 <u>.</u> 6				•			_			জ	a mana a description de la serie

The Battin G Buyer: JIM I Jim@JimBatt

							-
\$21.01	908100	\$11,832.00	6.65	84.70%	563.1	534	otals
\$21.42	129000	\$1,722.00	1.71	47.12%	80.4	75	-2020
\$21.08	430800	\$5,640.00	3.38	79.23%	267.6	252	-2020
\$20.78	348300	\$4,470.00	. 2.86	75.22%	215.1	207	-2020
CPP	Imp	Gross	Freq	Reach	GRPs	Spots	onth

ttin Group teamboat Pkwy 301

VV 89521 34-5001

d On: 2020-08-13 04:14:12

Buyer JIM BATTIN Jim@JimBatin.com (760) 534-5001

\_Date:\_

Battin Croc